(2) DU HR A 0 8 R OV DU - s e B A 4
(PSR AR 75 )
(575 3 VU= JA R0 D)

G

(4208) 28 3 3

(BA7 - B A M)
ATEE 3 DU HmE AR 295 3 DU P iEid B A
(B ER26E4 A 1H (E ER27TH 4 A 1 H
B ERL264E12H31H) TRk274E12H 31 H)
e b 473,776 482, 326
5 b5 401, 059 391, 042
Dt v lEnS 72,717 91, 284
R E R O — R B 58, 380 60, 032
= Ik 14, 337 31, 252
TN IEA
Z BUFILE. 214 193
2 I Y 4 659 534
JiNgEgsval 812 901
iéOD@MA/ﬁafﬂ%E 100 97
FROEIC X D BRI 913 2,561
z%"*#ﬁ 1,172 —
Z DA 2,992 1, 560
MR AR 6, 862 5, 846
=N A
SCHAFILE. 1, 834 1,528
EEEH 545 552
Zo R — 749
Z DA 4,908 4,135
HENE AT 7, 287 6, 964
TR R 2 13,912 30, 134
FERIFIZE
[ & & PE e AR 599 352
BeE A MRS e AL 6 40
[ 7 P = B AR 71 —
BODONAFER 214 —
FERORITIR D RLEHOTALE = 1,596
FERIF S A5 890 1,988
LSEIEERS
[#E] 7 PR AL 4R 1,982 4,214
bEi=Ei=PN 1,199 369
B A ML AR 10 251
BYREEGITIR D 2218 154 —
B R L 3, 266 404
s L ICFR DK 746 —
FERIH AT 7, 357 5, 238
LA S5 A T DU > S R 2 7, 445 26, 884
YN T 2, 832 7, 302
DL = Bl 4 4,613 19, 582
FESCHMR T ITIFE 3 2 T =R 2 AB16 -
SATFESEME EITIRE T 2 IR (A)
BISHREITIRE S 2 R 4% 5, 129 19, 228




(DY =30 B AR A R R
(575 3 VU= JA R0 D)

(4208)

28 3 3

(B2 /M)

HITHG 3 DY > S5 et 22 401 )

255 3 DU - A A4

(B ER26E4 A 1H (B FRk27#E4 A1 H
= FRk264E12H31H) & OERL2TEIZASLA)
DU 2= B 2% 4,613 19, 582
Z OO TIFERILE
& Dt A AL A A AR 1,338 199
HRIE~ > UL A32 43
Fy R R R E 9, 563 A6, 604
JRIRAG AR 2 A 486 323
ol o k3 2 R FE 24 %A 511 A206
Z OO FERRE G E 11, 866 A6, 245
IO = H AL FER 4% 16, 479 13, 337
(NFR)
B EITAR B U FEFI AR 14,613 14, 647
FEEIRE F 2R 2 0 e a2k 1, 866 A1, 310



